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QUESTION 1

In which two layers of the OSI model are WLANs located? (Choose two.) 

A. Network 

B. Transport 

C. Physical 

D. Data Link 

Correct Answer: CD 

Reference: https://www.controleng.com/articles/wi-fi-and-the-osi-model/ 

 

QUESTION 2

Which action would site-level network administrators be able to perform? 

A. create a config template 

B. modify an RF template 

C. reboot an access point 

D. assign access points to the site 

Correct Answer: C 

 

 

QUESTION 3

What is the purpose of the PoE pass-through on a Mist AP? 

A. to daisy chain BT11s 

B. to power a laptop during the deployment phase 

C. to power any Mist AP 

D. to power the Mist AP43 only 

Correct Answer: A 

 

Reference: https://www.mist.com/documentation/daisy-chain-access-points/ 
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QUESTION 4

What does a 3dBi antenna do to a received signal? 

A. It increases the power by a factor of 3. 

B. It increases the power by a factor of 10. 

C. It increases the power by a factor of 2. 

D. It decreases the power by a factor of 3. 

Correct Answer: A 

Reference: https://www.telewave.com/2018/02/understanding-antenna-gain/ 

 

QUESTION 5

Which statement is correct about wireless assurance? 

A. Wireless assurance is a legacy WLAN construct that is difficult to use. 

B. Wireless assurance can be used to proactively optimize WLAN performance. 

C. Wireless assurance is used by clients to ensure that a Wi-Fi connection is stable and reliable before joining. 

D. Wireless assurance does not require a subscription. 

Correct Answer: B 

Reference: https://www.juniper.net/us/en/products/cloud-services/wi-fi-assurance.html 
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